
 

Copyright © 2013 by Dr. Joseph Phillips 
All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in 
any form or by any means, including photocopying, recording, or other electronic or mechanical 

methods, without prior written permission from the author.  
 

Introductory Algebra Homework #12 – Answer Key 
 
 

 
 

1) See Graph 
2) See Graph 
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          1                     2                     3                     4 
 

5) 
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4

x −≤  

 
         -3                            -2                          -1 

6) Yes, it is a trinomial.   
7) 316 5 7x x− + −   
8) 8 6 512x y a−   
9) No   
10) 4 3 22 3 20 9 15x x x x− − − + +   

11) 
6

6

1
4
xy
a

−   

12) Yes, it is a binomial.   
13) 210 8x x+ +   
14) 3 9 64x y a−   
15) No   
16) 3 212 12 10 40x x x− − − +   

17) 
5 2

3

1
4
x a
y

  

18) Yes, it is a monomial.   
19) 5 42 3 11 7x x x+ + −   
20) 10 6 13108x y a   
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